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a=| BN 5% L
1AE |35 LAEEEE) kg a4 1kg HEERN (=3 T - S - 3
2|4F |BALICAICL (HEE) kg [fLil Tkg HEEN (=3 - S
3|AE | A/ —NH= 50g SNEM 50g HEBR| I & BE ot B2
AAE VYT (101/120) 1ke |EHAS Tkg HEEN| 2 (=3 = 3
54RO SRILAE (1 5enfd)  Tke |BF2 1kg HEERN BE ot RE | BE O
6|HE |MEBT LK 5008 RIERE 500g (@) HEEN| 2 1 (=3 = 3
THER |7y MbhawiEDE 200g | b—=F 200g O HEEN 2 #% (=30 < S = S 3
8AE |AbrRY—Fr—% 42¢ |AFTHH 42¢ (@) HEEN | B2 (=3 = 3
9AE | BEIT)-(Ve FeFi) 40g [h—=F 40g (@) HAEER | B2 M 3 S = 3
1040 |RETAL—_Y—¥I— 40g b—=F 40g (@) HEBR| 2 & RO B2 O
NAK | SAEHLHLEALE 50 | AFEE 50g HEEN 2 #% (=30 < S = S 3
124 |EREENET (KR 250 |h—=F 25¢ HAEEN| B2 (=3 = 3
134K |HHRKE 50g AEEE 50g HEEN 2 #% (=30 S = S 3
14|8F [Ty T rarR—F b—=F (@) HEBR| 2 & (=3 = 3
15 40F | BT (ZHT) ke |SNEM 1kg HEEN 2 #% (=30 < S = S 3
16|4F |[FFL—22 U — 34 | KEESE 34g O HEBR| 2 & (=3 S = 4
17|A% |7 71 (16/20) 42¢  |SNE&H 42¢g HEBR BE M| RE M| B2 O
18[{ER [ —HF=v 70L& 5008 |SNEH 500g O HEBR| 2 OB (=30 S = 4
19ER (LA AARM 1.2 TILER& 1.2¢ O HAEER | B2 M Bt B2 i
20{ER |=bEH ke Rly—E— kg HAEEN| B (=3 = 3
214K |ZAUYWESE FeCa 26g =% 26g HEEN 2 #® Bt B2
22|AF | MITHESE FeCa 18g =8 18g HAEEN| B (=3 = 3
23 A S RICEFES SR T 20g | KPS 20g HEERN (=30 T =S S - S 3
2|4 |EVRITHKBTY v F— 6g |SNEBER 6g HEMBR (=3 =S - ]
25{ER | b~ kA v O - RiARL) Ske |BHE 3kg HEBA |2 & Mot B2 O
26|{KiR | PEEFAE kg NGRS kg HEBR | E OB (=3 = 3
27|ER |Fov/a bg he1ER 5g O HEEN 2 #% (=30 S = S 3
28|{E:R | A7V > 40g b—=F 40g (@) HEBR | E OB (=30 < = 3
PLIL:S - PV A N E A S T E 1 5.5¢ O HEBA |2 & (=3 = 3
30{ER |/ 38g E7vk 38g HEEN 2 # (=30 < S = S 3
31AE |7 — A (17cm)  1.25kg |SNE S 25kg HEBA BEofE| B2 M| B2 O




324 | LABES Y 50g TILERS 50g O |E#ER =3 (=3 -
BAE |FREA—2 L ke SNE & Tkg O |E#ERN =3 (=3 S - S 3
34 4AF |FEBTT ORED v 1) 1kg  SNES 1kg HEBR | E % (=3 -
354 |[FBHT (24 1) ke |SNE& Tkg HEMBR| 2 # (3 - 3
36| FIR | (PEEEAEM) ke |hEABESR 1kg (@) HEBR| 2 % (=3 S =S 3
AR | SAELHRLEBALE 408 KFEES 40g @) HEEN | B2 (=3 = 3
38|EEB |[AAMAF—Y—R 230g B 230g O HEEN 2 #% BE ot B2
39|4F |VU—FU— 40g b—=F 40g O HEBR| 2 & (=3 = 3
WAE |TFr—FFaal—1 34g | KEEE 34g O HEEN 2 #% (=30 < S = S 3
& wiesRranan
X5
1| EIR WY O GY))  500g p—=F 500g = i
2 | BR |JUERH bR 50g HFIE 50g (=38 3
3 | AR T — A2 (1Tem)  1.25kg | S N & bh 25kg (33
4 | W | LWIES T B0g ~ /LB R 50g (33
5 | AK | HREN—A L 1ke S N kg (=3 3
6 | AR [FEHTHT RED kg |SN&M 1kg (=3 3
T AR | FEEIHT D) ke | SN kg (=3 3
8 | AR WYL 150ml S N 150ml (33
9 | AR (@A ChEBSEREM) ke | B A b 1kg (=33
10 | K | Y7 —A=4(6.4m) lkg |2= -+ 7—F 1kg (33




